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FORMAN CHRISTIAN COLLEGE, Lahore.
PHYSICS 1" Year

Name Roll No. Date

TICK THE CORRECT ANSWER

1 | The study of physics deals with

2 | How many frontiers of fundamental science are?

a) structure of space & time, _b) laws of motion,  ¢) the forces in universe, Ml of these

a)one, b) two, L(fthree, d) four

3 | Overlapping of physics and other fields gave birth to

a) biophysics,  b) health sciences,  c¢) astrophysics, Ld')/all of these

4 | Branch of physics which deals with velocities approaching the velocity of light is,

a)wave mechanics, W) relativities mechanics,  ¢) space physics, d) classical mechanics

5 | The most basic branch of physics is L({.
mechanics

a) geophysics,  b) thermodynamics, d) particle physics

FILL IN THE BLANKS
| 1 [ Physics is the discipline of science , which tells us about space, time and wmatlzn, |
2 | Relativistic mechanics deals with \lelpei fig ¢ approaching that of light.
3 | Physical sciences deal with the study of Y\ Linc g things.
4 | Speed of light in free spaceis 2y 1,8 ma g~ °
5 | Light yearis STunitof __ aligfa
TRUE/FALSE STATEMENTS
["1 | Physical chemistry is not the branch of physics. True/FHse
| 2 | Physics plays a vital role in development of technology and engineering. LPfue/False
3 | Square brackets are used for writing dimensions of any physical quantity. LFriie/Talse
4 | Radian is supplementary unit of plane angle LPfue/False
| 5 | The age of universe is 5 x 10" sec Lkrtie/False
MATCH THE COLUMNS
Match the column A with column B and write correct answer in column C.
Column A Column B Column C
| 1. Derived quantity of force in SI a.0.1cm {—-C
2. Least count of meter rod b. 10" m 2.-a
3. Diameter of an atom ¢. Newton 2-b
| 4. Light intensity is measured d. MLT? 4~€
5. Dimensions of force e. candela Sl

SHORT ANSWERS TO QUESTIONS

Write brief answers of each questign in the space provided l

: \gmt bphg/ifal quannty";&mj%“ y ohich , Y 4
3 Cxplessed. € e -

When an e latlon is'dimension ly correct? Q 4&%@@4 g!} éé éa /8

What do you mean by unit? }? W P2 o M‘Knﬂ wobiel s de
repfuile e, ?ﬁ

Ilow1a1 dom error 151educed°%¢?ciw Aedices &g
Sta e the ncnple ofhomogene]ty of dlmensmns'? Tao £had # & Al ,Z'm A




FORMAN CHRISTIAN COLLEGE, Lahore.

PHYSICS 1% Year
Name Roll No. Date

TICK THE CORRECT ANSWER

1 | The study of nature is classified into
a) one branch, two branches, c¢) three branches, d) four branches
| 2 | The branch of science deals with the properties of matter and energy is called :
| a) biology, physics, c¢) chemistry, d) astronomy
3 | Identify which out of the following is not the branch of physics?
a) biophysics, b) nuclear physics, ¢) astrophysics, Ha/physical chemistry
4 | Branch of physics which deals with structure and pgoperties of atom is
a) sound, b) optics, ¢) molecular physics, %omic physics
5 | The branch of physics which deals with the atomic nuclei is galled

a) mechanics, b) medical physics, c) solid state physics, \d’ﬁlcuclear physics

FILL IN THE BLANKS

1 | Physics deals with study of malf?A  and and the relationship between them
2 | The knowledge which is based upon the principle of observations and experiments is
called Atiermca B
3 | Biological sciences deals with the study of Aivtimeg  things.
|4 | Unit of work in ST units is Trule
5 | Thechips are made of £z fze.nn
TRUE/FALSE STATEMENTS >
1 | Physics is the most fundamental of all the sciences. VPfue/False |
2 | Nuclear physics deals with particles. True/False””
3 | The numbers other than the power of ten are called scientific notation. True/False””
4 | Velocity, acceleration and mass are derived quantities. True/Falge—"
5 | The branch of physics that deals with atomic nuclei is called mechanics. True/Falte~"
MATCH THE COLUMNS
Match the column A with column B and write correct answer in column C.
Column A Column B Column C |
1. Foundation of physics is based upon a. plane angle |—-b
2. System International consists of b. Physical quantities 2.6
3. Radian is the ¢. solid angle 2-a
4. Steradian is the d. LT 4-C
5. The dimensions of velocity e. three kinds of units [P

SHORT ANSWERS TO QUESTIONS

Write brief answers of each question in the space provided.
1. thyﬂcs? PJ\J)S:',&! ;ziFJJJLO'\%A Ha dz% 5—7&9;&«.4%73 onal
2. Whag W“é;fﬁcfn 7 wpgzk oury ﬂWM He accusotely fomam

. What does base unit mean?{?@{ ? =
M A g o

R -'bvr\i.y_‘.
Is it possible to haVe two quantities with the same dimensions but different units? Y&,

wriy e G. Wosk & Tkqpie, Mmen toom & dmputse .

9%}

&

Are radign and steradian base unifs of system
Pf" ik

h




Forman Christian College, Lahore.
ASSIGNMENT No. 1
Roll No. Physics 1° Year

Name Section

(). No. 1. Tick the correct answer.
i) S.L unit of Pressure is

a) N m* b) Nm \Q’ﬁ\l m™ d)Nm’'

ii) One Pico is equal to

a)10®  by10” ¢y 10" \4{1 0
iii) Least count of a screw gauge is

a)0.l em b) 0.01 cm \-6{0 001 cm d) 0.0001 cm
iv) Dimension of Angular Momentmn is

VOMLETY B)ML2T? MLT d)ML’T

v) An example of base quantity is

a) velocity b) acceleration \ej/length d) force -(5)

(). No. 2. Prove that Xl
i) 1 light vear =9.46 x 101 [3 b"g{-ﬁ?—@xéméo =

ii) IRad1an*573°[l’uuQ /’K =0

iy 1 mm’

-1
= 107 10" (i = 6 e =-*r'f3nm ——/bxlexiarn =l m

iv) Convert 0.00023 into Scientific Notation --(5)
f 2.3x o 4
Q. No. 3. Define the following
i} Radian ii) Steradian iii) Significant Figures
iv) Meter v) Kilogram -(35)
?% ?M'? ﬁ;é’ am M;&“
Q No. 4. q)‘?{‘ efine the term Error and Unaertalmy Lemfbor J’}' mat.,

Explain with examples (4) mgh) = ~
b) Prove that E = mc” is dimensionally consistent. & ML T L= ”7
¢) The speed v of soun aves thloug h a medium may be assume

L

,——d———/—‘
to depend on = ﬁ (L. v fmLT 7_'}@.] L‘i’
i) density of the medtum_{ ok /”"/V Z.. jw
ii) Modulus of Elasticity E which is the ratm of stress to stramn” —=——
Deduce by the method of Dimensions the Formula for the speed -:[(L T 7’]
of sound. (3) — L
d) Define Relativistic Mechanics. (1) -(10)

8k s Mo Mechancs b o Shacry 8 el | 5+5+5+10 =25




Forman Christian Colle-ge, Lahore.
| ASSIGNMENT No. 2
Roll No. Physics 1°' Year

Name Section

Q. No.1 Tick the correct answer.
i) Name the quantity which is a vector

a) power b) charge = ¢) mass \d’)/weight
i) An éxample of scalar quantity is
’%{speed b) displacement  ¢) torque  d) momentum

iii) The resultant of two forces 5N and 12N makmg an angle 90 with
- each other is

7N BIN  ¢I2ZN  dI3N Nowe. O Hese

iv} The cross product of two vectors is negative when the angle between them is
a) 90° b) 180° r=\£{270° d) 360°
v) The dot produet of vector A with itself (A<A) is equal to

D0 BH2A o1 VA (5)
(). No. 2. Fill in the Blanks. i A
el A A b "
i) The unit vector in the direction of A =2i—j+2k is ,2:- (e 1 é -;-,2: k
AN 3 3

i) (ixj)-k isequal toﬂ_&._k_;_i_
i) Two equal and opposite forces acfmg on abody form & (. ! {

iv) A body is said to be in state of complete eqirilibrium if its M_nn%gé(_acr.

v) If a body is rotating with uniform angular velocity. Its angular

acceleration is equal to A & | --(3)

Q. No. 3. Explain briefly the following statements. M Le W‘( a}?poﬁ/f:
i) If A+B =0what can you say about ﬂle(co;npogguts of the two vectors. A e ;0 ﬂ =0
ii) Name three different conditions that would make A,x A, =0 A, by ?‘Mﬁ o= o }?

11%&111 a body be rotated about center of gravity under the action of its welght’? B=lfe"  --(6)
Y0, BeCosde Mrinast 0hm ma&m,(’ Y andl be 2y
Q). No. 4. a) Define resultant vector. (1)
b) Describe the Method of addition of Vectors by rectangular components. (5)
¢) Two forces of magnitude 50 N and 100 N act on a body in directions making angles

—~———30% and 60° reﬁpectwelg with x-axis. Find the resuliant force and direction. (3)

- :j(fo&ssoumc‘s (5o k18" ”\n%gov)’: qV f - Fy/;- --(9)

Q. No.5.a) Define Right Hand Rule. M *
b) Describe the characteristics of Vector Product. (5)

¢) The magnitudes of dot and cross product of two vectors are 643 and 6 respectively.

Find the angle between the vectors. (3) : --(9)
Hom § = BB 48 = ﬂ' g ~ [5+5+6+9 = 25]
AR o6 m 5{;7 o




FORMAN CHRISTIAN COLLEGE, LAHORE

Assignment 4
Chapter 3 First Year
Name: Roll No.

Section:

Q. No. 1 a) Tick the Correct Answer. ,
i) When the velocity-time Graph is parallel to the time-axis,
the acceleration of the moving body,is
a) positive  (b) negative \fo%zero (d) maximum
ii) Distance covered by freely falling bodies in 2 seconds is
(@)49m (b)9.8m 19.6m (d) 39.2m
iii) The force with which the Earth attracts a body towards its center is called its,
(a) mass \,Hff weight  (¢) Gravitation (d) Gravity
iv) The force of S0 N acts on ly for 10 seconds. What will be the change in momentum.
(a) 250 N-sec \(B%bggN-sec (c) 750 N-sec  (d) 1000 N-sec
v) The horizontal of a projectile is maximum when it is projected at an angle of
(a) 0° 45" () 607 (d) 90°

b) Fill in the Blanks

i) When the value of average and instantaneous velocities are equal, the body is

said to be moving with Uf\ru';:«z(m vielo c\g

i) The property of a body due to which it opposes the state of rest or uniform motion

1s called Mﬁu

iii) The collision in which the momentum and KE both are conserved before and after

collision is called an MC&QL&%

iv) The maximum vertical height attained by a projectile is given by the

1o
formula é = V4 8
v) An un-powered and unguided Missile is called a 43@ @L_Lf/_t Z'C_ m;,pj,{ja

Q. No. 2. Give brief Answer of the following statements.
i) Motion with constant velocity is a special case of motion with constant
acceleration. Is this a statement true? Discuss. }@g) oY - %— =0 -
ii) Prove that the rate of change of momentum is equal to force applied. F=ma= “’f{:___ ¢
iii) At what point or points in its path does a projectile have its maximum and <4

minimum speed. noy. £ a.;f: Llast { esf Wi, Q’E 0 et ‘
Q. No. 3. pedt qut pawt
a) Define S.I. unit of force. Nawtin ()= Fere “equbed t acelu b | 44 ”‘zﬁ‘l;é,’

b) Discuss the Elastic collision in one dimension. Prove that the magnitude of relative
velocity of approach is equal to magnitude of relative velocity of separation.

¢) A foot ball is thrown upward with an angle 30° with respect to the horizontal.
To throw a 40 m pass, what must be the initial speed of the ball?

N R= Y 26 S W= = 20me
A]}}-—'Ut:._.(«uf’_‘ V:)




FORMAN CHRISTIAN COLLEGE, LAHORE
Physics Test

Chapter 4 - First Year Total Marks: 25
Name: Roll Ne.

Section:

Q. No. 1. a) Encircle the Correct Answer.
i) The Dimensions of Power are,
@ML'T? ML T @ ML’T? (@) ML*T?

ii) A field in which the work done in moving an object along a closed path is equal
to zero is called,

(a) Electric field (b) Magnetic field @ Conservative field (d) Nuclear field
iii) The intensity of the solar energy reaching the Earth’s surface is,
(@) 0.5 K watt m? (&)1 K watt m™ (¢) 2K wattm” (d) 1.5 K watt m”

b) Fill in the Blanks

i) Work done along the closed path is equal to 5&
ii) Solar cells are thin wafers made from éﬂ'!! e

iii) An example of non-conservative field iswm/ ;’4‘:&;{” (3)

Q. No. 2. Give brief Answers of the following statements.

= 0
: 5820, p=00
1) When the work done is n)ﬁ;nnum or mininum.

)

- =
ii) Power is the dot product of force and velocity. P-; T = t

iii) When the rocket enters the atmosphere the nose cone becomes very hot.

Where does this energy come from? Due t ok ?"uot’ n
Q. No. 3.

(6)

a) Is the gravitational force between the Earth and the Sun the same at all times of
the year? Explain. MD.

b) What is an Absolute Potential Energy. Determine its value on the surface
of the Earth. Ua - - gl

¢) A car of mass 800 kg traveling at 54 kmh™ is brought to rest in 60 m. Find the average

retarding force on the car. What has happened to ofiginal kinetic energy.
2 1

IVJL"V( - 25\5} Fc'h\a; 3;6'0 N

2+8+3 =(13)




FORMAN CHRISTIAN COLLEGE, LAHORE
Physics Test

Chapter 4 _ First Year Total Marks: 25
Name: Roll No.

Section:

1

Q. No. 1. a) Encircle the Correct Answer.

i) The work done will be negative, if the angle between force F and displacement d is
a0 (b)60° (© 90° @ 180°
ii) Solar cells are made up of the material called,
(a)catbon  (b) iron (D silicon  (d) caleium
iii) One kilowatt hour is equal to
@1.6MJ (b)) 26MI  (36MI  (d) 56M]J 3)

b) Fill in the Blanks
i) The product of ?’[{C,& and ’F‘q is callcd work.
i) The SI unit of power is Igla’bt .

iii) The intensity of solar energy absorbed by Earth during a clear day

isabout | KW m—-?.. 3)
Q. No. 2. Give brief Answers of the following statements.

i )CVV hatbll‘:t: sﬁ\nsm ét%ﬁg?d%m j}; gc(,n }—r( cloged. P‘ﬂ"

ii) What type of energy is stored in water dam? %(.MQMM 122

iii} A boy uses a catapult to throw a stone which accidentally smashes a green

house window. List the posslble energy changes. (6)

e o) PE —r KE = Scmel + it gty 1 W.dime in M%

a) What is the law of conservation of Energy.
b) i) Define escape velocity. Derive relation for escape velocity and -
calculate its value on the earth surface. 1).?4 = 125 I /C'"" s
i1) Also prove that work done on the body is equal to the change in ;;s KE. ~in KE
¢) How large a force is required to accelerate an electron (m = 9.1 x 107 " kg) from

uet io aspeed 0f 2.0 x 107 ms” ! through a distance of 5.0 cm?

1§
qit = vb - 2as; Fema; 3.6216 "o 2+8+3 = (13)




FORMAN CHRISTIAN COLLEGE, LAHORE
(A Chartered University)

Physics Test
First Year Total Marks: 25

Chapter 5
Roll No.

Name:
Section:

Q. No. 1. Encircle the Correct Answer.
i) The angle subtended at the center of the circle by an arc equal to its radius is equal to,
(a) one degree @one Radian (c) one rotation (d) one revolution
ii) When a body moves in a circle the angle between v and o is always,
@0° (045 (@ 90° (d) 180°
iii) If a car moves with a uniform speed of 2 ms™ in a circle of radius 0.4 m.

Its angular velocity is,
(@) 1rads’  (b)25rads’ (o) 45rads’ (@ Srads’
iv) Ifastone is whirled in a vertical circle at the end of a string when the stone is at the highest

position, the tension in the string is,
zero (b) max (c¢) minimum (d) less than the weight of the stone

v) S.I unit of Angular Momentum is.
(a)kgm s @ kg m’ s’ (¢c) kg m*s? (d) kg m’! !
vi) A man in an elevator is descending with an acceleration will conclude that his weight has
@ decreased  (b) increased (c) remains constant (d) reduces to zero
vii) Minimum number of communication satellites required to cover the whole Earth is,
(a) 1 2 © 3 (d) 4
viii) The value of g is maximum,
at the equator  (b) at the poles

(d) between the poles and the equator
ix) The angular speed for the daily rotation of the Earth in rad s1is,

(ayn (b)2n  (c) 4n @ 73x 107 rad s~
vi) The linear velocity of a hoop rolling down an inclined plane is,

@\2eh  @Veh © (Meh @ (Heh

Q. No. 2. Give brief ers of the fol!_(_)'wing statements.
i) C[Tesc%mﬁt shoulld 41]10 nTinin?Lflﬂ velodity for a satellite to orbit close o the earth around it
ii) Explain what is meant by centripetal force and why it must be furnished to an
object. If the object is to follow a circular path. F;_ = MWy

iii) c\l/hen mud flies off the :?ﬁ_Of a moﬂ bgbicycle, inwhat direction does it fly off? Explain. ~ (6)

Q. No. 3. ” .
a) Define Moment of Tnertia. Give its S.I. units. I = ér mi £i )‘ kﬁ '}'y\l

b) What is an Artificial Gravity? How js it created in a space sgjp’? Prove the frequency of the

1 (e r
S 4302 R(B=)E R (%) = —oe
=t i ( ndfi:ts oﬁi}s is given by, f=2L\/—%'

safellite when it {s rofated arou
i

(c) at the center of the Earth

(10)

¢) What is the least speed at which an aero plane can execute a vertical loop of 1.0 km radius so
that there will be no tendency for the pilot to fall down at the highest point.
145+3=(9)

. 1
Ge=09 =% = V=




FORMAN CHRISTIAN COLLEGE, LAHORE
(A Chartered University)
Physics Test
Chapter 6 First Year Total Marks: 25

Roll No.
Section:

Name:

Q. No. 1. Encircle the Correct Answer.

1) The dimensions of coefficient of viscosity are,
(2) MLT @ ML T (¢) ML2T®>  (d) ML T?
ii) If each particle of fluid passing through a point follows the same path, then the flow
1s called,
(a) irregular flow @ stream line flow (c) turbulent flow (d) regular flow
iii) The pressure will be low where the speed of the fluid is.
(a) zero @ high (c) low (d) constant
iv) A two meter high tank is full of water, a hole appears at the middle. What is the speed of the

efflux?
@342ms’ (0442 ms’ (¢) 5.42 ms™ (d) 6.42 ms™
v) The drag ferce increases as the speed of the object,
@ increases (b) decreases (¢) remains constant (d) none of these (5)

Q. No. 2. Give brief Answers of the following statements.

i) Explain the difference between laminar flow and turbulent flow.

ii) Why the fog droplet appear to be suspended in air?

Due 5 M‘r}oﬂz

iii) Explain how the swing is produced in a fast moving cricket ball.
High dpeed Lo presfuse
1\) Iwo boats moving parallel in the same direction are pulled towards each other. Explain.
ative Speadd dy toakiy ‘i‘l“w”‘ Pgh So Pkasgune il
be £nJ .
v) Explain the working of a carburetor of a motor car using by Bernoulli’s Equation.
High velacly 5} six dRarim ot fxodicas Lo presguse
Ao W e lise A&Mh Angile |
Q. No. 3.

a) Define Equation of continuity. W = RV v

: o, P+ 4 £V ef5h = Conglint

b) State and prove Bernoulli’s Equation.
¢) Certain giobular protein has a density 1246 kg m™ through a pure water.
n =8 x 10 N m™s with terminal velocity 01'3 0 cm hour' . Find the radius

Of;l-m par’tédu ’Vti ??L Zile. x 349y /°,4, 1+I+5+3_=( 10)
e -——-—'__' = [-€ x/)o m
7/7. 14§ 2% 4.8 1 44




FORMAN CHRISTIAN COLLEGE, LAHORE
(A Chartered University)
Physics Test
Chapter 6 First Year Total Marks: 25

Name: Roll No.
Section:

Q. No. 1. Encircle the Correct Answer.

i) The SI unit of viscosity is,
@ kem's' (b)kg mts?(c) kgms (d) kgm™s
i) The smooth or steady streamline flow is known as,
(a) turbulent flow (b) simple flow @ laminar flow (d) regular flow
iii) The pressure will be low where the speed of the fluid is,
(2)zero  (b)constant () low (@ high
iv) A two meter high tank is full of water, a hole appears at the middle. What is the speed of the
efflux?
()642ms’  (B) 4.42 ms? (c) 5.42 ms™ (d) 3.42 ms"
v) The drag force increases as the speed of the object,
(a) decreases @ increases (c¢) remains constant (d) none of these (5)

Q. No. 2. Give brief Answers of the following statements.

i) Explain what do you understand by the term viscosity?
propesty 1 Yosds bty ool Hay Kasist Haic Yo
dut £ Anbicnal Yaickom.
ii) Why the fog droplet appear to be suspended in air?
Due £ drag Frree.

1) Explain how the swing is produced in afast moving cricket ball.
Hrgh Speed {0 pRegguce
iv) Two boats moving parallcl in the samg direction ane ulled towards each other. Explain.

A 4o
mﬂ&% B %

v) Explain the working of a carburetor of'l motor car using by Bernoulli’s Equation.

Higl, velyeely S} ais JRawn ot gy duces Ln> pregguse (10)
To Jpehel vixtine AR arom ingide .
Q. No. 3
AMQ&M&W’S ?MC}@J/P P‘L" JEV
a) W hat 1s venturi meter? Apply Bernoulli’s qulﬂthﬂ o1
b) State and prove Equation of Continuity. 2 ’!/ = A
¢) Water flows through a hose, whose internal dlametel islemataspeedol I ms
What should be the diameter of thenozzle if the water is to emerge at 21 m S" ?

AY, = MY, = T’if'v, = 7({:"1;1' 2+5+3=(10)
B D,
(2% = (2% = pym ez 020




FORMAN CHRISTIAN COLLEGE, LAHORE
(A Chartered University)
Physics Assignment
Chapter 7 First Year Total Marks: 25

Name: ‘ Roll' No.
Section:

Q. No. 1 Encircle the Correct Answer.
1) In'S.H.M. the acceleration of the body is directly proportional to.
a) applied force (b) amplitude displacement  (d) restoring force
i1) The frequency of the second’s pendulum is,
@ 0.5 hertz (b) 1 hertz  (c) 1.5 hertz (d) 2 hertz
iii) Total energy of the mass attached at one end of a spring executing S.IH.M. at any
displacement x is given by,

(a)lkx (b) 1-kx" © %kxi ) kx

1v) ’\l'IELllal ﬁc,quuncw is given by the ﬁXplES‘i]OH

' 2
(a) o= A (b) ® =—TE (¢c) —\/7 @ all of them
r m

v) When the damping is small, the amplitude of vibration at resonance will be,
(a) small large  (c) remains constant  (d) none of the above
vi) In microwave oven, heating is produced by the phenomenon of,
(a) free oscillation (b) forced oscillation (¢) damped oscillation @ resonance
vii) The time period of the mass attached to the end of a spring is T:_= 2 "El ']n%{
viil) Frequency of vibratory motion £ = 4—: of the time period.
ix) The sharpness of resonance curve of a resonating system depends upon the
frictional loss of __ qis, Ae4etlona (9)
Q. No. 2. Give brief Answer of the following statements, i
i) Can we realize an ideal simple pendulum? No. pue te Yaickon K““'ﬁ“{ &) iy
1i) Explain the relation between total energy, potentlal energy and kmetic enew\ fm
a body oscillating with SHM. (Ff) = (K F) CPE—fkf = /,Ut z*

i ||) Desgribe some common phenomenon in whjch 1Laonan$éolaw an important role. — (6)
Q. No Mmaﬁ&aﬂ. TV, MiRetive gvey , murs

PR«M nagg-S
a) dee@HM Give three examples. 6.d—7C KGML P 4 5 M%

/;fcr; CACLLsl, Y
b) What is a simple pendulum? Prove, that its motmn is S.H.M. Derive an e ’pILbblUl]

for its time period. F="™& =~ g & = b= - T = LR

¢) A simple pendulum is 1 meter long. What will be ﬁle [1cquumv of vibration at a
place whexe lhc value of g = 9.8 m s o 1+1+1+4+3 = (10)
§=L :?—‘KJ%Q =----" or

Q. No. 4
a) Define time period, frequency, displacement and amplitude.
b) Discuss the motion of projection of point P moving along the circular path with
constant speed. Show that its motion is S.H.M. Derive an expression for
i) Instantaneous displacement ¥ - y, €4, ot
ii) Instantaneous velocity 1+ = '-OW

i) acceleration in terms of A =% o 4 - Y 4+ 4 +543= (10)
—="p

o O = — W




FORMAN CHRISTIAN COLLEGE, LAHORE
(A Chartered University)

Physics Assignment
First Year Total Marks: 25

Roll No.
Section:

Chapter 8

Name: ..

Q. No. 1. Encircle the Correct Answer.
i) The waves produced on the surface of water are
(a) electromagnetic waves (b) longitudinal waves (c) stationary waves @ transverse waves

ii) If 25 waves pass through a medium in one second with a speed of 50 ms™”  then % s,

@im 2m (© 3m d 4m [v SEAAY = k_f.;:r -
iii) The velocity of sound in vacuum is,,
(@300ms’  (®)332ms” (¢) zero (d) 324 ms”'

iv) When the temperature is increased by 1 °C. The velocity of sound is increased by,
Bosims’ ®06lems' . (¢) 2ms’ (d) 2.6 ms”

v) The distance between two consecutive node and antinode is,
I(a') Ao (2K @ ) (d) /4 (5)

b) Fill in the Blanks
i) Two waves of equal frequency traveling in opposite direction give rise to Sﬁf@ ohy Woneg

ii) Stars moving away from the Earth show a AM

iii) When a particle of the medium is simultaneously acted upon by two or more waves,
then the resultant displacement of the particles is the algebraic sum of their individual
displacement is called AAM&F_;& tron

iv) Find the temperature at which the velocity of sound in air is two times its
\elocuy of sound at 10 °C Vyp = 332+06.6Ixlo = 2591 hs" (5)
Vi = 24 Vio = 24377 332+ 66 £ >t = 56
v) Asmngoﬂength E mantains stationary waves of wavelength 4, is given } ,\ e

Q. No. 2. Give brief Answers of the following statements.
i) How beats are useful in tuning the musical instruments? A 14 Wﬁt‘*""‘"t i tuned.
i), Why does sound travel faster in solids than in gases? £ 44 in Selids,
iii) How should a sound source move with respect to an observer so that its

frequency of sound does not change. Gz S)bk‘( Sl f be 214242 = (6)

Q. No. 3.
a) Define Doppler’s effect. dm-@z i £ de to 4e0ubive mmaton A Sove & Obgernies |
b) Describe Newton’s Formula fo frf{lﬁ velocity of Souud and explain how was jt
corrected by Laplace. v = [£/p; Laface [PV —east] D V= Y%
¢) An organ pipe has a length of 50 em. Find the frequency of its fundamental note
and the next harmonic, when it is,

1) open at both ends,  11) close at one end,
The speed of sound is 350 m s~

i)e:éEdLA“LE#{.l:E‘—"-gocz Fyz - --

=t A=l = f= Lo f RSN =S ¥ S

1+2% +2% +3=(9)
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Q. No. 1. Encircle the Correct Answer.
i) Electromagnetic wave theory was proposed by,
(a) Hertz @ Huygen (c) Newton (d) Maxwell
ii) Which one of the properties of light does not change with the nature of the medium,
(a) velocity (b) wavelength f&) amplitude (d) frequency
iii) According to Einstein light travels from one place to another place in the form of.
(a) waves (b) particles @ photons (d) radiation
iv) Longitudinal waves do not exhibit,
"{a) reflection  (b) refraction (c) diffraction @ polarization
v) The distance between two bright fringes is called,
(a) wavelength @ﬁ'inge spacing  (c) wavelet  (d) amplitude
vi) Michelson Interferometer can be used to find the,
(a) velocity of Iight@ wavelength of light (c) order of the spectrum (d) none of these
vii) The path difference for constructive interference should be,
(@d=r/2 (bd=321 (c)d=521 (@ d=mnr
vili) One Angstrom is equal to,
@ 10% cm (b) 10° cm (¢) 10" nm (d) 10" nm
ix) Which of the following can not be polarized,
(a) radio waves  (b) ultravioletrays  (c) X-rays @ sound waves
x) I 5000/ecm are ruled on the diffraction grating, then the slit spacing will be,

@5x10°A° 1)5x10°A° (o) 2110"“ A° (@) 2x10°A° (10)
- = = = s —
b) Fill in the Blanks =g Samo =2X® = 2pdy /s

i) Huygen’s Principle is used to locate the QL0 Loova wwa_,f‘m‘;é—
ii) The central point of the Newton’s ring is d s dc

i1i) The blue sky is due to

Scaflerinm
iv) Polarization of light show that light is w cﬂuﬁ»wM

Q. No. 2. Give brief Answers of the following statements.
i) Can visible light produce interference of light? Yeg. M Aes PJ\@SL CMQ
it) How would you manage to get more orders of spectra using diffractign grating?
iif) Why the Polaroid sun glasses are better than ordinary sun glasses 7 e Z&M
iv) How would you distinguish between unpolarized and plane polarized light ? 1,/ 8
) ¥ s po plane po o itk o pgd )i

Q. No. 3.
a) What is polarization 7 Cnv§ 'WV"‘? g)f Vilgelort i gre P&""“
b) Describe Young's Double Slit experiment to demonstrate the interference of light.
Derive an expression for Fringe Spacing. A'f = /i
¢) In Double Slit experiment, the second order maximum occur at 0 = 0.25" . The
wavelength is 650 nm. Dctermine the slit separation. 1+5 +2=(8)

A% emA ot =PA_
S &

re
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Q. No. 1. Encircle the Correct Answer.
1) Image formed is twice of object size for convex lens with £ = 10 em. Object position is,
@10em D) 15¢em (¢) 20 cm @25em M=tar-&x9=1p
ii) Michelson used the equation to determine the speed of light, P 1 e L
(a)c=4fd (b)c=8fd (c)c=12fd @ c=16fd £ F
iif) The least distance of distinet vision for the normal human eye is, ~ /L L-Ll+
(@)10ecm ()15 cm (©) 20cm @ 25em /":; p=1S
iv) The final image produced by the compound microscope is B
(a) real & inverted (b) real & erect (c) virtual & erect @ virtual & inverted
v) Foran Astronomical Telescope, f,=4m & f. = 25 ml}, cmcmuifying YOWET 15 |
(60 (b)100 @ 160  (d) 200 M /_} = 3 = 1éo
vi) The speed of light in vacuum is, € Lf lo
@ 3x 108 ms! (D) 3x10"ms" (¢)3x 10" ms! (d)3x 10" ms’
vil) Multimode step index fibre is useful for,
(a) long distance short distance (¢) neither long nor short (d) none of these
viil) 'Light entering glass will not suffer a change in ,
(a) frequency  (b) wavelength @ distance  (d) velocity
ix) The diameter of a single mode step index 1s,
(a) 2.3 m @5 um  (¢) 10pm (d) 15pum
x) The ;mguhir magnification of an optical instrument is given by the formula,

4+ W°

@070, @670,  (©8/28,  (d)20,/0; (10)
b) Fillin me Blanks magrf 5 7&44 ~
i) \\'humlncdllcs within focus and optical center of a convex lens. ltacts as a —L@& g{,,,jc. e

i} Magnitving power of a simple microscope is given by formulaM = | 4 ¢
i) Object’s maximum details can be seen by a microscope with light of _ 44 “._f,t MWW
iv) For nomal adjustment, the length of the astronomical telescope is = ;;_ + £g

V) An image formed by a concave'lens is always  VA4laad

i) Atsome angle of mc1denufwhenﬂleang,lcoﬂetldctlcmbemm&90’ called [:é,é el ,1,4,.?(2
1% 11) [ aver of lower refractive index over central core of high refractive index is M
viii) 1he heht emitted from (LED) has a wavelength /. 3 /LM [IH [+ & ,_ = 2.2y

ix) Ihe magnifying power of a convex lens of focal length 20 cm is g 5

~1 Spherneal and chromatie aberration is found i m 1/
Q. No. 2. Give brief Answers of the following stdtements M=
i) W hat do vou understand by linear magnification and angular mdgmil@dll(m 7m __'L

ity How the light signal is transmitted through optical fibre? To&4 4, ﬁ'
unc_[.m rhai;m\u is lost m&uwl ﬁbre through dispersion. Explain. C&#ﬁ%@ﬁw
A

Q. No. 32 2000 ot foFe

a) Disting m\h Iwct\um a telescope and a mluoscopﬁP’.wQ«Q_ elin.

by Describe the construction of a compound microscope. Draw a neat diagram. g (f—f-")
Derive an e pru.sion for the md&nifvim, power of a compound microscope. M" 7

¢ Aot aneal telescope having a' magnifying power of 5 consists of two thin
Jenses 24 cmoapart. Find the focal length of the lenses. 2+443=(9)

s ‘F/F & fo=MEe=-- 1, - 2 _
L = fothe =mfe+fe > fe=im T s
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Q. No. 1. Encircle the Correct Answer.

1) At constant pressure, the graph between volume and absolute temperature is ,
(a) hyperbola @ straight line  (c) parabola (d) ellipse

ii) For a gas obeying the Boyle’s law. If the pressure is doubled, the volume becomes
(a) double @ one half (¢) four times (d) remains constant

iil) The KE of the molecule of an ideal gas at absolute zero will be
(a) below zero (b) infinite @ Zero (d) above zero

iv) The expression for pressure exerted by an ideal gas is given as

1 1 2 1
(a) I’:§N0<Enw2> @ 7—N <2mv2> (c) l’:-gNA<;EHV'2>

(d) P=lNO f<imv2 >
2 2

v) The temperature scale which is independent of the nature of substance used in the

thermometer is called ,
(¢) Kelvin scale

(a) Centigrade scale
Thermodynamic scale (5)

b) Fillin the Blanks '
) i) The total sum of all the energies of all molecules in an object is known as .%rM %Lﬁ?ﬁ
i1) The ideal gas law is given in the form of % Lord/ (Rasl@} laey
111) ['he value of the universal gas constant R in S.I. units 1s % . 3 {': d ’mr& K i
K AAL Atsein g iS.

iv) The efficiency of the Carnot engine depends on
v) When the temperature of the source and sink of a heat engine become equal
LA na (3)

(b) Fahrenheit scale

the entropy will be
Q. No. 2. Give brief Answers of the following statements.
i) Why is the average velocity of the moleculcs ina gas is 7cr0 but the a\ 1aﬁe of
the squares of the velocities is not zero? frv }4@‘{‘
i) Specific heat of a gas at constant pressure is g;eater tha the spec1 1¢ hed al }"-’LO
constant volume. Why ‘?CP>CU Cp freat & haact iy A2l s, ’h:) APy
iii) Give an example of a process in which no heat is transferred to or from the system but
the temperature of the system changes. A rabatre LX g o, . 2H4242=(6)
Q. No. 3
Aavge | K ol Conyts
a) I )CﬁnCCP'll]dCV.ﬂ’-{BW’KO‘fMP Xgﬁ' e ('V
b) Prove that Cp—Cy =R. M CpAT =n CVAT-F“-W(— WRAT) = CP" v=K

¢) Estimate the average bpeed of Nitrogen molecules in air under standard conditions
1+5+3=(9)

of temperature and pressure.
T"‘—-‘"(%M?}) &(v;_fkl T = 273k 23
TRT M X=)3g XI5
91._14—;}.;, :j - __ ___|wm= 281053
L) g-oZ'L,q 16?—3




